EAST POINT SCHOOL

CLASS-VII
ONLINE CLASSES WORK PLAN (NOVEMBER WEEK-1)

ENGLISH

UNIT-4-Nature-Creator and Destroyer
SECTION-1-SOMETHING WONDERFUL HAPPENS WHEN YOU PLANT A SEED

VIDEO LINK:- https://www.youtube.com/watch?v=HcP8XJUQcrY
INTRODUCTION

Kenyan activist Wangari Maathai is best known as the recipient of the 2004 Nobel Peace Prize for her
work to protect the environment, promote democracy, and ensure sustainable development in Africa. A
former university professor of veterinary anatomy, Maathai founded the Green Belt Movement in 1977
by planting seven trees at a public park in downtown Nairobi. Since then, she and thousands of rural
women (and some men) have planted more than 30 million trees. In the process, women have earned
much-needed income from their seedlings and created a ready source of firewood, fodder, building
material, and even food (from fruit trees) that they control. Many of these women have gained
confidence and a greater voice in their families and communities.

In 2002, Maathai was elected to Kenya's Parliament. She also currently serves as Assistant
Environment Minister in the government of Mwai Kibaki. What is perhaps less well-known is that she
was educated at mission schools by Catholic nuns (first Italian and then Irish), and earned a
scholarship to study at Mt. St. Scholastica College in Atchison, Kansas (now Benedictine College).
There, she picked up a degree in biology and what she calls her "Kansas accent.”

Maathai, 65, remains a practicing Catholic while drawing on the tenets of other faiths and the religious
expression of her community, the Kikuyu (one of Kenya's ethnic groups or "micro-nations," a term
Maathai prefers). The Kikuyus' spiritual home, Mount Kenya, literally Kenya's highest mountain, looms
large over the valleys of the central highlands. Under its shadow, Maathai planted a celebratory tree
last fall when her Nobel Prize was announced. She spoke with writer Mia MacDonald for Beliefnet.The
Interview of Maathai is mentioned in the chapter.

Reading of the chapter will be done from the text book.

Questions and Answers:-

Q-1) What were the two main achievements that got Wangari Mathai worldwide recognition?
Q-2) How did Wangari Mathai want to assist the earth?

Q-3) What was the major hurdle that Wangari Mathai faced on her way to achieving her mission?

Q-4) What were the problems of the rural women in Kenya? How did Wangari Mathai arrive at the
solution?

Q-5) What are the chief uses of a tree, according to Wangari Mathai?

ACTIVITY: Research and discuss more facts in the class about Wangari Mathai through a
Powerpoint Presentation.
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MATHS
Video Link: https://www.youtube.com/watch?v=dMakWyMrh7k

OBJECTIVES:

1.Students will be able to differentiate between the perimeter and the area.

2.They will be able to find the perimeter and area of different shapes.

3.They will be able to do conversion of units.

4. Students will be able to apply the application of different figures into day to day life.

Perimeter
It refers to the length of the outline of the enclosed figure.
Area

It refers to the surface of the enclosed figure.
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Area and Perimeter of Square

Square is a quadrilateral, with four equal sides.

Area = Side x Side

Area and Perimeter of Rectangle

The rectangle is a quadrilateral, with equal opposite sides.
Area = Length x Breadth
Perimeter = 2(Length + Breadth)

Triangles as Parts of Rectangles

If we draw a diagonal of a rectangle then we get two equal sizes of triangles. So the area of these
triangles will be half of the area of a rectangle.

The area of each triangle = 1/2 (Area of the rectangle)

Likewise, if we draw two diagonals of a square then we get four equal sizes of triangles .so the area of
each triangle will be one-fourth of the area of the square.




The area of each triangle = 1/4 (Area of the square)

Parallelogram
It is a simple quadrilateral with two pairs of parallel sides.

Also denoted as || gm

Area of parallelogram = base x height
Or b x h (bh)

Area of Triangle

Triangle is a three-sided closed polygon.

If we join two congruent triangles together then we get a parallelogram. So the area of the triangle will
be half of the area of the parallelogram.
Area of Triangle = 1/2 (Area of || gm)
= 1/2 (base x height)
Note: All the congruent triangles are equal in area but the triangles equal in the area need not be

congruent.
Circles

It is a round, closed shape.

The circumference of a Circle

The circumference of a circle refers to the distance around the circle.

o Radius: A straight line from the Circumference till the centre of the circle.

o Diameter: It refers to the line from one point of the Circumference to the other point of the
Circumference.

o 7 (pi): It refers to the ratio of a circle's circumference to its diameter.

Circumference
=T

Diameter
Circumference(c) = m % diameter
C=nd

=7 x2r
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Circumference
—biameter = JL = 314109..

Note: diameter (d) = twice the radius (r)
d=2r
Area of Circle

Area of the circle = (Half of the circumference) x radius

= 7'[31'2

ré“'
\‘\ Area=mx 12

N

KINDLY GO THROUGH THE BELOW LINK TO SOLVE THE WORKSHEET.
https://www.bing.com/videos/search?q=VIDEOS+ON+PERIMETER+AND+AREA+CLASS-
VII+MATHS&&view=detail&mid=9F68A9B781FDEDEQO3F5F9F68A9B781FDEDEQ3F5F&&FORM
=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DVIDEOS%2BON%2BPERIMETER%2BAND%2B
AREA%2BCLASS-VII%2BMATHS%26FORM%3DHDRSC4
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WORKSHEET

Q1Perimeter of a square =
(@) side x side

(b) 3 x side

(c) 4 x side

(d) 2 x side


https://www.bing.com/videos/search?q=VIDEOS+ON+PERIMETER+AND+AREA+CLASS-VII+MATHS&&view=detail&mid=9F68A9B781FDEDE03F5F9F68A9B781FDEDE03F5F&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DVIDEOS%2BON%2BPERIMETER%2BAND%2BAREA%2BCLASS-VII%2BMATHS%26FORM%3DHDRSC4
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Q2.Perimeter of a rectangle of length Z and breadth 6 is
(@!l+b

(b) 2 x (1 +Db)

(€)3x(l1+h)

d)Ixb

Q3. Area of a rectangle of length | and breadth b is
(@1xb

(b)I+b

(€)2x(I+b)

(d)6x(I+b)

Q4. The circumference of a circle of diameter d is
(a) nd

(b) 2nd

(c) 12 nd

(d)yznd/2

Q5. If rand d are the radius and diameter of a circle respectively, then
@d=2r

(b)yd=r

(C)d=12r

(d)d=r?

Q6. The area of a circle of diameter d is
(a) md?

(b) 2nd?

(c) 14 nd?

(d) 2n

Q7.1cm?=
(a) 10 mm?

(b) 100 mm?
(c) 1000 mm?
(d) 20000 mm?

Q8.1m?=
(a) 10 cm?

(b) 100 cm?
(c) 1000 cm?
(d) 10000 cm?

Q9. The area of a square plot is 1600 m?. The side of the plot is
(@40m

(b) 80 m

(c) 120 m

(d) 160 m



Q10. The area of a square is 625 m?, Find its side
(@25m

(b) 50 m

(c)125m

(d)5m

Q11. The perimeter of a rectangle is 30 m. Its length is 10 m. Its breadth is
@5m

(b) 10 m

(c)15m

(d)3m

Q12. The perimeter of a square is 48 cm. Its area is
(a) 144 cm?

(b) 12 cm?

(c) 48 cm?

(d) 100 cm?

Q13. The area of a rectangular room is 150 m?. If its breadth is 10 m, then find its length.
(@15m
(b) 25 m
()50 m
(d)55m

Q14. A rectangular wire of length 40 cm and breadth 20 cm is bent in the shape of a square. The side of
the square is

(@) 10 cm

(b) 20 cm

(c) 30 cm

(d) 40 cm

Q15.The area of a parallelogram of base 5 cm and height 3.2 cm is
(a) 8 cm?

(b) 12 cm?

(c) 16 cm?

(d) 20 cm?

Q16.The area of the following ; parallelogram: is

2cm

6cm
(a) 12 cm?
(b) 6 cm?
(c) 24 cm?
(d) 8 cm?



Q17.0ne of the sides and the corresponding height of a parallelogram are 3 cm and 1 cm respectively.
The area of the parallelogram is

(a) 1 cm?

(b) 3 cm?

(c) 6cm?

(d) 12 cm?

Q18. If the area of a parallelogram is 16 cm2 and base is 8 cm, find the height.
(@ 1cm
(b) 2cm
(c)3cm
(d)4cm

Q19.The area of a parallelogram is 20 cm2 and height is 2 cm. Find the corresponding base.
(@ 3cm

(b) 4 cm

(c)5cm

(d)2.4cm

Q20. Find AD in the following figure :

A
3cm i 4 cm
B D C
5cm
(@ 3cm
(b) 4 cm
(c)5cm
(d)2.4cm

Q21.Find the area of A ABC :

(a) 1 cm?
(b) 2 cm?
(c) 4 cm?
(d) 12 cm?

Q22. Which of the following is not the value of  ?
(a) 227



(b) 722
(c) 355113
(d) 3.14

Q23. The diameter of a circle is 14 cm. Find its circumference
(@) 44 cm
(b) 22 cm
(c)11lcm
(d) 55 cm

Q24.The perimeter of the following figure is

(@) 27 cm
(b) 28 cm
(c) 36 cm
(d) 40 cm

Q25.Find the area of A ABC
A

3cm!

B 4cm C

(a) 3 cm?
(b) 4 cm?
(c) 6 cm?
(d) 12 cm?



SCIENCE
MOTION AND TIME

Objectives:

e Analyze how distance, time, and speed are related

e Demonstrate understanding of position, speed, and graphs of motion

o Identify significant differences in data
Video Link:https://youtu.be/aazuuZdrpUo
Speed
Speed is the rate of change of position of an object with time. The average speed of an object in an
interval of time is the distance travelled by the object divided by the duration of the interval
o= Total Distance Covered

Total Time Taken

Unit of Distance is meter or Kilometer and that of time is second or hour.

Units of speed are metre/second (m/s) or Kilometer/Hour (km/h).

GRAPHSA graph is a picture or diagram that shows relation between two or more variable
quantities.

Distance-Time Graph

This is usually drawn as a line graph as it taken two variable quantities — Distance and Time.

In a Distance-Time graph, Distance is considered on the Y-axis (Vertical) and Time is considered
on the X-axis (Horizontal).

The slope of a distance-time graph gives the speed of an object.

A B C D E F

Car moving from point A to Point F through 8,C,D and E

Paints _| Disance(Kkm) _ Time (Mins) | Sped (km/He) _
A 0 0 0

B 5 20 15

C 15 45 20

D 30 70 25.7

E 40 100 24

F 60 120 30

Table showing the distance travelled by car to reach every point and the
corresponding time taken. Speed shown is the average speed at that particular point,

Types of Motions using D-T Graph



https://youtu.be/aazuuZdrpUo

1§ T
Object in Uniform Motion Object at Rest
D D
T T
Object in Non-Uniform Motion Object in Non-Uniformn Motion

ASSIGNMENT
Q1. Seema decided to go outside with her family for the dinner in some particular restaurant.
Then, she thought to take her own car. So, while moving she increased the speed of the car from
36 km/h to 54 km/h. All of sudden, a rickshaw came in front of her car but due to applying of
brakes at the right time, both of them got safe from meeting with an accident.
(a) Calculate the increase in the speed of the car in the terms of m/s.
(b) Mention a positive action performed by Seema here. [Value Based Question]
Multiple Choice Questions (MCQs)
Q1. Speed of a body is measured in
(a) metre(b) kilometre(c) metre/second(d) metre/sec?
Q2. Which of the following cannot be a unitof speed?
(@) km/h(b) s/m(c) m/s(d) mm/s
Q3. The slope of a distance-time graph of amoving object indicates:
(a) distance moved by the object
(b) time is taken by the object
(c) the speed of the object
(d) the position of the object
Q4. An athlete attains a maximum speed of 36 km/h. This speed is equal to:
(@) 5 m/s(b) 10 m/s (c) 15 m/s(d) 20 m/s
Q5.The diagram shows the distance-time graph for the motion of two vehicles A and B.
Which one of them is moving faster?

(@) vehicle A is moves faster than vehicle B i i &
(b) vehicle B is moves faster than vehicle A Z .
(c) vehicle A is moves in a same speed as vehicle B i

Time —m>

ACTIVITY:

Collect information about time-measuring devices that were used in ancient times in different parts of
the world.

Prepare a brief write up of the information collected by you.



SOCIAL STUDIES
Chapter — 8 Geography
Human Environment Interaction: The Tropical and the Subtropical Region

Video Link: https://www.youtube.com/watch?v=HY6X1I10YgcE
* Human beings interact with environment and are dependent on it for a number of things.
* Life in the Amazon Basin:
(1) Amazon river was discovered by a Spanish explorer, Vicente Yanez Pinzon.
(i)  The Amazon basin lies in the tropical region close to the equator between 10°N and
10°S, and the river Amazon flows through this region.
(i) The Amazon river basin drains portions of Brazil, parts of Peru, Bolivia, Ecuador,
Columbia and a small part of Venezuela.

* Climate:
(1) The Amazon basin stretches directly on the equator and its characterized by hot and
west climate throughout the year.
(i) There is heavy rainfall and high humidity.

* Rainforest:
(1) As it rains heavily, thick forests grow in this region.
(i)  The forests are in fact so thick that the dense roof created by leaves and branches do not
allow the sunlight to reach the ground.

(iii)  The rainforest is rich in fauna.
a) Birds: Toucans, Humming Birds, Bird of Paradise.
b) Animals: Monkeys, Sloth, Ant- eating Tapirs.
c) Crocodiles, Snakes, Pythons are found in Amazon basin (eg. Anaconda, Boa).
d) Flesh- eating piranha fish is also found in Amazon River.

* People of the Rainforests:
M People grow most of their food in small areas after clearing some trees in the forest.
(i) Slash and burn agriculture is prevalent.
(i) Crops:
a) People of Amazon basin mainly grow Tapioca, Pineapple and Sweet Potato.
b) Staple food- Manioc, also known as Cassava.
¢) Cash Crops- Coffee, Maize and Cocoa.
(iv)  Large Apartment- like houses called “Maloca” with a steeply slanting roof.
(V) The development activities are leading to gradual destruction of the biologically diverse
rainforest.

» Life in the Ganga-Brahmaputra Basin:
M The tributaries of rivers Ganga and Brahmaputra together form the Ganga-
Brahmaputra basin in the Indian subcontinent.
(i) It is situated between 10°N to 30°N latitudes.


https://www.youtube.com/watch?v=HY6X1I0YgcE
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(iii)
(iv)

(V)
(vi)
(vii)
(viii)

(ix)

(x)
(xi)

(xii)

(xiii)

(xiv)

(xv)
(xvi)

The plains of the Ganga and the Brahmaputra, the mountains and foothills of the
Himalayas and the Sundarbans delta are the main features of this region.
The basin area has varied topography. The mountain areas with steep slopes have
inhospitable terrain.
The monsoon brings rains from mid-June to mid-September.
Agriculture is the main occupation of the people, where flat land is available to grow
New crops.
The main crop is Paddy.
Wheat, maize sorghum, gram and millets are the important crops of the region.
Cash Crops like Sugarcane and jute. Banana plantations are seen in some areas of the
plain.
Tea plantation in West Bengal and Assam. Silk production in Bihar and Assam.
The vegetation cover of the area varies according to the type of landforms:

a) Tropical Deciduous trees teak, sal and peepal.

b) Thick Bamboo groves are common in the Brahmaputra plain.

c) The delta area is covered with the Mangrove forests.

d) Coniferous trees pine, deodar and fir.
There is a variety of wildlife in the basin:

a) Animals- Elephants, Tigers, Deer and Monkey.

b) One — horned rhinoceros is found in the Brahmaputra plain.

c) Inthe delta areas, Bengal tiger, crocodiles and alligators are found.

d) Fish- Rohu, Catla and Hilsa.
Fish and rice is the staple diet of the people.
The Ganga-Brahmaputra plain has several big towns and cities like Allahabad, Kanpur,
Varanasi and Lucknow.
All the four means of transport are well-developed in the Ganga-Brahmaputra basin.
Tourism is an important activity of the region.

WORKSHEET

Short Answer Questions: -

Which type of vegetation grows in the Amazon forest?

By what names is the river Brahmaputra known in different places.
What leads to the pollution of the rivers?

Name the continent in which the Amazon Basin in located.

What are the crops grown by the people of the Amazon Basin?

Name the birds that you are likely to find in the rain forests of the Amazon.
What are the major cities located on the river Ganga?

Where are the one-homed rhinoceros found?

Name the cash crops grown in the Ganga-Brahmaputra Basin.

Long Answer Questions: -

1. Describe the wildlife of the Ganga-Brahmaputra basin.
2. How is tourism an important activity in the Ganga-Brahmaputra basin?
3. Describe the Flora and Fauna of Amazon Rainforest.

Tick the correct answer:

(a) Toucans are a type of



(i) birds (if) animals  (iii) crops.
(b) Manioc is the staple food of

(i) Ganga Basin (i1) Africa (iii) Amazon.

(c) Kolkata is located on the river

(i) Orange (it) Hooghly (iii) Bhagirathi.

(d) Deodars and firs are a type of

(i) Coniferous trees (i1) Deciduous trees (iii) Shrubs.
(e) Bengal tiger is found in

(i) Mountains (ii) Delta area (iii) Amazon.

3. Match the following:
(i) Cotton textile (a) Assam

(if) Maloca (b) Terrace farming
(iii) Piranha (c) Sericulture
(iv) Silk worm (d) Slanting roof
(v) Kaziranga (e) Ganga plain

(f) Varanasi

(g)Fish

Give reasons:

1. The rainforests are depleting.
2. Paddy is grown in the Ganga-Brahmaputra plains.

Map Work:

Mark Amazon River, Ganga River, Brahmaputra River, and Sundarban Delta on a blank physical
map of the World.

Activity:

Make a PowerPoint Presentation on the Tourist Places lies in Ganga- Brahmaputra Basin.
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